7B Test 2 Sample
Unit 2

Fill in the blanks.
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(6) Given tana= 2/3, ain the third quadrant, and cos 8= 12/13, —3575<0<24r
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(a) sin 108°cos 63°-cos 108°sin 63°=_2. (b) cos(-a/12) _____<_
L a) Lr "./E
- sm(no%)es (s(ZT 4T ) =Cos( 7 7
1] 2 2
=Sin(45 Te T p SinTsinD
_ iz = Cos zCos3F ("3
e =

ZLr 213
2 2 Z o

(8) Solve for 8 exactly (in radians, 0 <8 <2x ).

(a) sino=0.7 (b) tan6=-4 . (c) cosB= -5/6 -5
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(9) Simplify Sin(tan_l(?)—cos_l(%)) = Sln(q/—-@) =SINY¥ CoSE — oSS/ N e—
T ® ' -4 L 2 2z
- S ) e

s S
sc=tan (3 G5 S

o 0, = —4—vz
/W ) ’%‘"2@ =
3,

(10) Verify the following identity. Presentation counts.
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l SOLVE the following equations: 0 <x <27 (8 points each) |

(16) 8- 6sin x = 7 cos x
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